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2.2	
  GeV,	
  2.5T,	
  Transverse	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

3503	
   7	
   0.327	
  ±	
  0.007	
  

3574	
   7	
   0.648	
  ±	
  0.018	
  

3727	
   7	
   0.074	
  ±	
  0.003	
  

3864	
   7	
   0.795	
  ±	
  0.031	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

3446	
   8	
   0.505	
  ±	
  0.013	
  

3575	
   8	
   0.606	
  ±	
  0.015	
  

3759	
   8	
   0.894	
  ±	
  0.031	
  

3865	
   8	
   0.810	
  ±	
  0.031	
  

• 	
  Raster	
  size	
  was	
  changed	
  from	
  2.0	
  to	
  1.8	
  cm	
  aOer	
  run	
  3503,	
  but	
  before	
  run	
  3574	
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2.2	
  GeV,	
  2.5T,	
  Transverse	
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Beam	
  PosiRon	
  

Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

C
ur

re
nt

 (n
A)

39

40

41

42

43

44

Beam Current for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 5.1338
Average = 41.5481

BCM	
  calibraRon	
  
changed	
  here	
  



Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

N
u 

(M
eV

)

25.3

25.35

25.4

25.45

25.5

25.55

25.6

25.65

25.7

- D1p) for E = 2.2 GeV, 2.5T, Transverse
beam

Nu (E

Mat 7
Mat 8
DummySpread = 0.28

Average = 25.5389

Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

2253.35

2253.4

2253.45

2253.5

2253.55

2253.6

2253.65

2253.7

Beam Energy (HALLA:p) for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 0.24
Average = 2253.56

2.2	
  GeV,	
  2.5T,	
  Transverse	
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Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

2.22798

2.228

2.22802

2.22804

2.22806

2.22808

LHRS p0 Setting (HacL_D1_P0rb) for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 8e-05
Average = 2.22802
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Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

716

716.5

717

717.5

718

LHRS Septa Current (MITIRBCK) for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 0.163
Average = 716.901

2.2	
  GeV,	
  2.5T,	
  Transverse	
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Time Elapsed (s)
0 50 100 150 200 250 300 350 400
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Septa Current for Run 3574

Anneals	
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1.1	
  GeV,	
  2.5T,	
  Transverse	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

4947	
   11	
   0.444	
  ±	
  0.029	
  

5067	
   11	
   0.350	
  ±	
  0.012	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

4948	
   12	
   0.456	
  ±	
  0.030	
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1.1	
  GeV,	
  2.5T,	
  Transverse	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

5134	
   13	
   0.171	
  ±	
  0.011	
  

5219	
   13	
   0.116	
  ±	
  0.006	
  

Run	
  	
   Mat.	
   Pf	
  ±	
  Uncertainty	
  

5133	
   14	
   0.229	
  ±	
  0.0086	
  

5197	
   14	
   0.347	
  ±	
  0.0153	
  

5198	
   14	
   0.335	
  ±	
  0.0155	
  

5264	
   14	
   0.143	
  ±	
  0.0073	
  

(short	
  cell)	
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1.1	
  GeV,	
  2.5T,	
  Transverse	
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Runs	
  4947	
  (11),	
  4948	
  (12),	
  5067	
  (11),	
  	
  
don’t	
  have	
  beam	
  posiRon	
  informaRon	
  –	
  
neighboring	
  runs	
  are	
  shown	
  here.	
  



Run Number
4900 4950 5000 5050 5100 5150 5200

-8

-6

-4

-2

0

2

4 Tgt x
Tgt y

Run Number
4940 4960 4980 5000 5020 5040 5060 5080 5100 5120 5140

-8

-6

-4

-2

0

2

4 Tgt x
Tgt y

!"#$%&"'())(*$+,,,( !"#$%&"'()-(

Run Number
5140 5160 5180 5200 5220 5240 5260

-10

-8

-6

-4

-2

0

2 tgtx
tgty

Yields

Run Number
5130 5140 5150 5160 5170 5180 5190 5200 5210 5220

-8

-6

-4

-2

0

2 tgtx
tgty

Yields!"#$%&"'().( !"#$%&"'()/(

Run Number
4900 4950 5000 5050 5100 5150 5200

-8

-6

-4

-2

0

2

4 Tgt x
Tgt y

Run Number
4940 4960 4980 5000 5020 5040 5060 5080 5100 5120 5140

-8

-6

-4

-2

0

2

4 Tgt x
Tgt y

!"#$%&"'())(*$+,,,( !"#$%&"'()-(

Run Number
5140 5160 5180 5200 5220 5240 5260

-10

-8

-6

-4

-2

0

2 tgtx
tgty

Yields

Run Number
5130 5140 5150 5160 5170 5180 5190 5200 5210 5220

-8

-6

-4

-2

0

2 tgtx
tgty

Yields!"#$%&"'().( !"#$%&"'()/(
1.1	
  GeV,	
  2.5T,	
  Transverse	
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  Run Number
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C
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Beam Current for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 42.9065
Average = 31.0322

BCM	
  calibraRon	
  	
  
is	
  constant	
  

Run	
  5197	
  (14)	
  doesn’t	
  have	
  beam	
  
posiRon	
  informaRon	
  –	
  neighboring	
  runs	
  
are	
  shown	
  here.	
  



Run Number
4950 5000 5050 5100 5150 5200 5250

1.151

1.15102

1.15104

1.15106

1.15108

1.1511

1.15112

1.15114

LHRS p0 Setting (HacL_D1_P0rb) for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 0.00014
Average = 1.15111

Run Number
4950 5000 5050 5100 5150 5200 5250

1156.7

1156.8

1156.9

1157

1157.1

1157.2

1157.3

1157.4

Beam Energy (HALLA:p) for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 0.63
Average = 1157.1

1.1	
  GeV,	
  2.5T,	
  Transverse	
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  Run Number
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N
u 
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- D1p) for E = 1.1 GeV, 2.5T, Transverse
beam

Nu (E

Mat 11
Mat 12
Mat 13
Mat 14
DummySpread = 0.7

Average = 5.98545



Run Number
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LHRS Septa Current (MITIRBCK) for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 0.029
Average = 361.927

1.1	
  GeV,	
  2.5T,	
  Transverse	
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Time Elapsed (s)
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Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

400
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RHRS Septa Current (MBIGBOXM) for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 409.425
Average = 587.007

Run Number
3450 3500 3550 3600 3650 3700 3750 3800 3850

716

716.5

717

717.5

718

LHRS Septa Current (MITIRBCK) for E = 2.2 GeV, 2.5T, Transverse

Mat 7
Mat 8
Dummy

Spread = 0.163
Average = 716.901

2.2	
  GeV,	
  2.5T,	
  Transverse	
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LHRS	
  Run	
   RHRS	
  p0	
  
(GeV/c)	
  

3446,	
  3448	
   2.228	
  

3503	
   1.792	
  

3574,	
  3475	
   1.341	
  

3727	
   1.927	
  

3759	
   1.859	
  

3864,	
  3865	
   1.119	
  



Run Number
4950 5000 5050 5100 5150 5200 5250
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RHRS Septa Current (MBIGBOXM) for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 184.846
Average = 354.505

Run Number
4950 5000 5050 5100 5150 5200 5250

361.82

361.84

361.86

361.88

361.9

361.92

361.94

361.96

361.98

362

362.02

LHRS Septa Current (MITIRBCK) for E = 1.1 GeV, 2.5T, Transverse

Mat 11
Mat 12
Mat 13
Mat 14
Dummy

Spread = 0.029
Average = 361.927

1.1	
  GeV,	
  2.5T,	
  Transverse	
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LHRS	
  Run	
   RHRS	
  p0	
  
(GeV/c)	
  

4947,	
  4948	
   0.702	
  

5028	
   1.081	
  

5067	
   0.936	
  

5133,5134,
5137	
  

0.870	
  

5197,	
  5198,	
  
5219	
  

0.752	
  

5264	
   0.656	
  


